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 BBCCT-115  

B.Sc. (HONOURS) BIOCHEMISTRY  

(BSCBCH) 

Term-End Examination 

December, 2022 
 

BBCCT-115 : HUMAN PHYSIOLOGY 

Time : 3 hours Maximum Marks : 70 

Note :  Question No. 1 is compulsory. Attempt any  

five questions from questions no. 2 to 8. Draw 

illustration or diagram wherever necessary. 

1. (a) Define the following : 51=5 

(i) Homeostasis  

(ii) Hemostasis  

(iii) Double circulation  

(iv) Cardiac cycle  

(v) Portal triad  

(b) Match the following :  51=5 

 (A)  (B) 

(i) Heparin (a) Brain stem   

(ii) Coronary 

artery 

(b) Sleep 

modulator 

(iii) Haemoglobin (c) Anticoagulant 

(iv) Respiratory 

centre 

(d) Carry blood to 

heart 

(v) Pineal gland (e) Transport 

oxygen in blood  
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2. (a) Describe the process of blood clotting with 

the help of suitable diagram.  6 

(b) Distinguish between the following :  32=6 

(i) Intracellular and Extracellular Fluids 

(ii) Pulmonary and Systemic Circulation  

(iii) Inspiration and Expiration  

3. Differentiate between the following :  26=12 

(a) Testis and Ovary 

(b) Bone and Muscles  

4. (a) Explain the mechanism of Urine formation.  6 

(b) Describe the human gastrointestinal tract, 

with the help of a labelled diagram.  6 

5. (a) Write short notes on the following  : 32=6 

(i) Bile 

(ii) Hypoxia 

(iii) Fatty liver  

(b) Expand the following terms : 61=6 

(i) RAAS 

(ii) BUN 

(iii) AST 

(iv) ALT 

(v) LDH 

(vi) BBB 
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6. (a) Draw the structure of brain and explain the 

functions of different areas of brain.  6 

(b) What is Synapse ? Explain its role in 

transmission of nerve impulse, with the 

help of a labelled diagram.  6 

7. (a) Draw a labelled diagram of the  

following : 32=6 

(i) Sarcomere  

(ii) Sperm 

(iii) Nephron  

(b) Explain enterohepatic circulation.  6 

8. (a) Enlist nature and functions of reproductive 

hormones.  6 

(b) What is fertilization ? Explain its basic 

steps, with the help of a suitable diagram.  6 
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 ~r.~r.gr.gr.Q>r.-115  

~r.Eg gr. (Am°Zg©) O¡d-agm`Z 
(~r.Eg.gr.~r.gr.EM.)  

gÌm§V narjm 
{Xgå~a,  2022 

~r.~r.gr.gr.Q>r.-115 : _mZd eara{H«$`m{dkmZ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 70 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 8 _| go {H$Ýht  
nm±M àíZm| Ho$ CÎma Xr{OE & Amdí`H$VmZwgma {MÌ ~ZmBE & 

 
1. (H$) {ZåZ{b{IV H$mo n[a^m{fV H$s{OE : 51=5 

(i) g_ñW¡{VH$s 
(ii) aº$ñV§^Z 
(iii) {Ûg§MaU 
(iv) öX` MH«$ 
(v) nmoQ>©b Ì` 

(I) {ZåZ{b{IV H$m {_bmZ H$s{OE : 51=5 

 (A)  (~) 

(i) hon¡[aZ (a) ~«oZ ñQ>o_ 

(ii) öX²-Y_Zr (b) gwßV {Z`m_H$ (_m°Sw>bH$)$  

(iii) hr_mo½bmo{~Z (c) ñH$ÝXZ amoYr 

(iv) ídgZ H|$Ð (d) aº$ H$mo öX` VH$ bo OmZm 

(v) nr{Z`b J«pÝW > (e) Am°ŠgrOZ H$mo aº$ _| 
n[adhZ H$aZm  
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2. (H$) aº$ ñH§$XZ à{H«$`m H$m Cn ẁº$ {MÌ H$s ghm`Vm go 
dU©Z H$s{OE & 6 

(I) {ZåZ{b{IV Ho$ ~rM A§Va ñnï> H$s{OE : 32=6 

(i) A§VamH$mo{eH$ Am¡a H$mo{eH$m~mø Vab 

(ii) \w$â\w$gr` Am¡a àUmbrJV n[ag§MaU 

(iii) A§V…ídgZ Am¡a ~møídgZ  

3. {ZåZ{b{IV Ho$ ~rM A§Va ñnï> H$s{OE :  26=12 

(H$) d¥fU Am¡a A§S>me` 

(I) hÈ>r Am¡a _m§gnoer  

4. (H$) _yÌ {Z_m©U H$s H$m`©{d{Y H$mo g_PmBE & 6 

(I) _mZd OR>am§Ì nW H$m Zm_m§{H$V {MÌ H$s ghm`Vm go 
dU©Z H$s{OE &  6 

5. (H$) {ZåZ{b{IV na g§{jßV {Q>ßn{U`m± {b{IE : 32=6 

(i) {nÎm 

(ii) hmBnmopŠg`m (Hypoxia) 

(iii) dgr` `H¥$V 

(I) {ZåZ{b{IV nXm| H$mo {dñV¥V H$s{OE : 61=6 

(i) RAAS 

(ii) BUN 

(iii) AST 

(iv) ALT 

(v) LDH 

(vi) BBB 
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6. (H$) _pñVîH$ H$s g§aMZm ~ZmBE VWm _pñVîH$ Ho$ {d{^Þ 

joÌm| H$mo _hÎdnyU© H$m`m] Ho$ gmW g_PmBE & 6 

(I) {gZ¡ßg Š`m h¡ ? V§{ÌH$m AmdoJ Ho$ n[ag§MaU _| BgH$s 

^y{_H$m H$mo Zm_m§{H$V {MÌ H$s ghm`Vm go g_PmBE & 6 

7. (H$) {ZåZ{b{IV Ho$ Zm_m§{H$V {MÌ ~ZmBE : 32=6 

(i) gmaH$mo{_`a 

(ii) ewH«$mUw 

(iii) Zo\«$moZ 

(I) Am§Ì-`H¥$V n[ag§MaU H$mo g_PmBE & 6 

8. (H$) àOZZV§Ì Ho$ hm°_m}Zm| H$s àH¥${V VWm H$m`m] H$s gyMr 

~ZmBE & 6 

(I) {ZfoMZ Š`m h¡ ? Cn`wº$ {MÌ H$s ghm`Vm go BgHo$ 

_yb MaUm| H$s ì`m»`m H$s{OE & 6 

 


